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1. Système	
  à	
  trois	
  niveaux	
  

	
  
Soit	
  un	
  système	
  à	
  trois	
  niveaux,	
  N1,	
  N2,	
  et	
  N3.	
  Le	
  pompage	
  s’effectue	
  de	
  N1	
  à	
  N3	
  et	
  les	
  
atomes	
  du	
  niveau	
  3	
  sont	
  transférés	
  rapidement	
  dans	
  le	
  niveau	
  2.	
  La	
  transition	
  laser	
  
s’effectue	
  entre	
  les	
  niveaux	
  2	
  et	
  1.	
  Les	
  équations	
  pertinentes	
  s’écrivent	
  maintenant	
  :	
  
	
  
dN2

dt
= Rp − ΦB N2 − N1( ) − N2

τ
dΦ
dt

= VaBΦ N2 − N1( ) − Φ
τ c

N1 + N2 = Nt

	
  

	
  
où,	
  dans	
  ce	
  cas	
  ci,	
   Rp =WpN1 .	
  Soit	
  N = N2 − N1 	
  la	
  différence	
  de	
  population	
  entre	
  les	
  
niveaux	
  2	
  et	
  1.	
  
	
  
a) Réécrivez	
  les	
  équations	
  ci-­‐dessus	
  en	
  termes	
  de	
  N 	
  et	
  Nt .	
  

	
  

N = N2 − N1,  Nt = N1 + N2 ⇒  N1 =
Nt − N

2
,  N2 =

Nt + N
2

⇒
dN
dt

= 2 dN2

dt
= 2WpN1 − 2ΦB(N2 − N1) − 2N2 / τ

    =2Wp (Nt − N ) − 2ΦBN − (N + Nt ) / τ                                (1)
dΦ
dt

= VaBNΦ− Φ / τ c                                                                (2)

	
  

b) Montrez	
  que	
  le	
  seuil	
  pour	
  l’effet	
  laser	
  se	
  produit	
  lorsque	
  N = Nc =
γ
σ

,	
  comme	
  dans	
  

le	
  cas	
  à	
  quatre	
  niveaux.	
  
	
  
Développement	
  similaire	
  au	
  cas	
  à	
  4	
  niveaux	
  :	
  
	
  
d I  ou Φ( )

dt
=

σcN
Le

−
γ c
Le

⎛
⎝⎜

⎞
⎠⎟
I  ou Φ( ) .	
  

En	
  comparant	
  avec	
  l’équation	
  (2),	
  
	
  

B =
σc
VaLe

=
σc
V

,  τ c =
Le
γ c
.	
  	
  

L’effet	
  laser	
  se	
  produit	
  lorsque	
  N = Nc 	
  tel	
  que	
  
	
  
σcNc

Le
=
γ c
Le

⇒ Nc =
γ
σ
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c) Montrez	
  que	
  le	
  taux	
  de	
  pompage	
  seuil	
  s’écrit	
  maintenant	
  

	
  

Rpc =
γ

στ
1+ D( )  ,   D =

σNt

γ 	
  
	
  
Tous	
  autres	
  paramètres	
  étant	
  égaux,	
  le	
  taux	
  de	
  pompage	
  seuil	
  est	
  donc	
  plus	
  élevé	
  
dans	
  un	
  système	
  à	
  3	
  niveaux	
  par	
  rapport	
  à	
  un	
  système	
  à	
  4	
  niveaux.	
  
	
  

Le	
  taux	
  de	
  pompage	
  seuil	
  est	
  atteint	
  lorsque	
   dN
dt

= 0 	
  et	
  Φ ≈ 0 .	
  À	
  partir	
  de	
  (1),	
  

	
  

⇒Wp Nt − Nc( ) =WpN1c = Rpc = Nt + Nc( ) / τ =
γ

στ
1+ D( ),  D =

σNt

γ
. 	
  

	
  

d) Montrez	
  que	
  le	
  rendement	
  du	
  laser	
  ηs =
dPout
dPp

= ηp
γ 2
2γ

⎛
⎝⎜

⎞
⎠⎟

hν
hν p

⎛

⎝⎜
⎞

⎠⎟
Ab
A

⎛
⎝⎜

⎞
⎠⎟
,	
  soit	
  la	
  même	
  

expression	
  que	
  pour	
  un	
  système	
  à	
  4	
  niveaux.	
  Ce	
  résultat	
  est	
  a	
  priori	
  surprenant	
  
puisqu’il	
  y	
  a	
  maintenant	
  des	
  pertes	
  supplémentaires	
  dues	
  à	
  l’absorption	
  des	
  photons	
  
laser	
  par	
  les	
  atomes	
  dans	
  le	
  niveau	
  1.	
  Toutefois,	
  ces	
  atomes	
  sont	
  transférés	
  dans	
  le	
  
niveau	
  N2 	
  et	
  peuvent	
  donc	
  aussi	
  contribuer	
  à	
  l’émission	
  stimulée.	
  
	
  
En	
  régime	
  stationnaire,	
  lorsque	
   Rp > Rpc ,	
  l’équation	
  (1)	
  donne	
  
	
  

2Φ0BNc = Rp − Rpc  ⇒  Φ0 =
1

2BNc

Rp − Rpc( ) .	
  
	
  
En	
  utilisant	
  les	
  formules	
  trouvées	
  dans	
  ce	
  qui	
  précède,	
  on	
  obtient	
  
	
  

Φ0 =
Vaτ cγ (1+ D)

στ
Rp

Rpc

−1
⎛

⎝⎜
⎞

⎠⎟
=
Abγ (1+ D)

2σ
τ c
τ

⎛
⎝⎜

⎞
⎠⎟

Rp

Rpc

−1
⎛

⎝⎜
⎞

⎠⎟
. 	
  

	
  

On	
  a	
  toujours	
  Pout =
hνγ 2c
2Le

Φ0  ⇒  Pout =
Ab (1+ D)

2σ
⎡
⎣⎢

⎤
⎦⎥
hν
τ

⎛
⎝⎜

⎞
⎠⎟

γ 2

2
⎛
⎝⎜

⎞
⎠⎟

Pp
Ppc

−1
⎛

⎝⎜
⎞

⎠⎟
. 	
  

	
  

De	
  même,	
  comme	
  Pp =
Ahν p

ηp

Rp ,  Ppc =
Ahν pγ (1+ D)

2ηpστ
.	
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Finalement,	
  ηs =
dPout
dPp

=
Ab (1+ D)
2σ

⎡
⎣⎢

⎤
⎦⎥
hν
τ

⎛
⎝⎜

⎞
⎠⎟

γ 2
2

⎛
⎝⎜

⎞
⎠⎟

1
Ppc

⎛

⎝⎜
⎞

⎠⎟
= ηp

Ab
A

⎛
⎝⎜

⎞
⎠⎟

hν
hν p

⎛

⎝⎜
⎞

⎠⎟
γ 2
2γ

⎛
⎝⎜

⎞
⎠⎟
	
  

	
  
2. Laser	
  He-­‐Ne	
  

	
  
Soit	
  un	
  laser	
  He-­‐Ne	
  dont	
  les	
  caractéristiques	
  sont	
  les	
  suivantes	
  :	
  
	
  
Système	
  à	
  quatre	
  niveaux;	
  
λ = 632,8 	
  nm;	
  
R1 = 0,998;   R2 = 0,985; 	
  
Le = 70 cm;   = 60 cm;  Ab = 0,5 mm; 	
  
Taux	
  d’émission	
  spontanée	
  :	
  1,4 ×106  s−1 ;	
  	
  
Taux	
  de	
  recombinaison	
  dû	
  aux	
  collisions	
  :	
  107  s−1 ;	
  
Largeur	
  de	
  bande	
  homogène	
  (profil	
  de	
  Lorentz)	
  :	
  ΔνH = 30 MHz; 	
  
Température	
  du	
  gaz	
  :	
  500	
  K.	
  
	
  
	
  
a) La	
  section	
  efficace	
  de	
  transition	
  peut	
  se	
  mettre	
  sous	
  la	
  forme	
  

	
  

σ (ν) = σ totg(ν − ν0 ) = σmax

g(0)
g(ν − ν0 ),   g(ν − ν0 )

0

∞

∫  dν = 1, 	
  

	
  
où	
   g(ν − ν0 ) 	
   représente	
   le	
   profil	
   de	
   Lorentz	
   de	
   la	
   bande	
   homogène.	
   Soit	
   de	
   plus

P(ν − ν0 ) 	
  le	
  profil	
  d’élargissement	
  inhomogène,	
  avec	
   P(ν − ν0 ) dν = 1
0

∞

∫ .	
  

	
  
Montrez	
  que	
  le	
  coefficient	
  de	
  gain	
  s’écrit	
  alors	
  
	
  

α g (ν) = σ totP(ν − ν0 )N2 	
  
	
  

Dans	
  le	
  cas	
  présent,	
  l’élargissement	
  inhomogène	
  est	
  dû	
  à	
  l’effet	
  Doppler	
  et	
  résulte	
  en	
  
un	
  profil	
  de	
  Gauss	
  avec	
  
	
  

Δν I =
ν0

c
8kT ln2
mNe

= 1,69 GHz ΔνH .	
  	
  

	
  
Le	
  profil	
  de	
  Lorentz	
  de	
  l’élargissement	
  homogène	
  peut	
  de	
  ce	
  fait	
  être	
  considéré	
  
comme	
  un	
  pic	
  delta	
  de	
  section	
  efficace	
  de	
  transition	
  σ tot .	
  Il	
  suit	
  que	
  
	
  
α g (ν) = σ (ν)N2 = σ totP(ν − ν0 )N2 .	
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b) Que	
  vaut	
   la	
  différence	
  de	
  population	
   Nc 	
  au	
  seuil	
  de	
  l’effet	
   laser	
  si	
   les	
  seules	
  pertes	
  

proviennent	
  des	
  miroirs	
  de	
  fin	
  de	
  cavité?	
  
	
  
L’effet	
  laser	
  se	
  produira	
  en	
  premier	
  à	
  la	
  fréquence	
  où	
  le	
  gain	
  est	
  maximal,	
  c’est-­‐à-­‐dire	
  
en	
  ν = ν0 ,	
  et	
  alors	
  
	
  
α p = α g (ν0 ) = σ totP(0)Nc .	
  Ceci	
  implique	
  que	
  σ

totP(0)Nc = γ = − ln(R1) − ln(R2 )[ ] / 2 .	
  
Donc,	
  
	
  

Nc =
− ln(R1) − ln(R2 )[ ]
2σ totP(0)

.	
  

	
  

Dans	
  le	
  cas	
  d’un	
  profil	
  de	
  Gauss,	
  P(0) = 2
Δν

ln2
π

,	
  tandis	
  que	
  pour	
  un	
  profil	
  de	
  

Lorentz,	
   g(0) = 2
πΔν

.	
  On	
  a	
  donc	
  que	
  σ tot = σmax / g(0) = σmaxπΔν / 2 ,	
  où	
  σmax 	
  est	
  donné	
  

dans	
  la	
  table	
  distribué	
  en	
  cours	
  :	
  pour	
  un	
  laser	
  He-­‐Ne,	
  σmax = 3×10−17  m2 .	
  En	
  mettant	
  
tous	
  ces	
  chiffres	
  ensemble,	
  je	
  trouve	
  Nc = 1,8 ×1016  m−3 .	
  

	
  
c) Que	
  vaut	
  l’intensité	
  de	
  saturation	
   Is 	
  en	
  ν = ν0 ?	
  

	
  

Is =
hν

σmaxτ
. 	
  Dans	
  ce	
  cas	
  ci	
  toutefois,	
  la	
  population	
  N2 	
  décroit	
  non	
  seulement	
  à	
  cause	
  

de	
  l’émission	
  spontanée	
  mais	
  aussi	
  à	
  cause	
  des	
  collisions.	
  On	
  peut	
  écrire	
  
	
  
1
τ
= Γ sp + Γcoll .	
  Il	
  suit	
  que	
   Is = 1,2 ×105  Wm−2 .	
  

	
  
d) On	
   bloque	
   l’effet	
   laser	
   en	
   introduisant	
   un	
   obturateur	
   dans	
   la	
   cavité	
   laser.	
   La	
  

puissance	
   de	
   pompage	
   est	
   	
   telle	
   que	
   la	
   différence	
   de	
   population	
   non	
   saturée	
   vaut	
  
′N2 = 9 ×1016  m−3 .	
   Si	
   on	
   enlève	
   l’obturateur,	
   quelle	
   sera	
   la	
   puissance	
   de	
   sortie	
   du	
  

laser?	
  
	
  
La	
   différence	
   de	
   population	
   non	
   saturée	
   est	
   directement	
   proportionnelle	
   à	
   la	
  
puissance	
  de	
  pompage.	
  On	
  peut	
  donc	
  écrire	
  
	
  

Pout = AbIs
γ 2

2
⎛
⎝⎜

⎞
⎠⎟

Pp
Ppc

−1
⎛

⎝⎜
⎞

⎠⎟
= AbIs

γ 2

2
⎛
⎝⎜

⎞
⎠⎟

N2
'

Nc
seuil −1

⎛
⎝⎜

⎞
⎠⎟
= 1,8 mW. 	
  

	
  
	
  


